* FiaEREITERE
* HiF{TERE

* PEERF

T B IRl A1



A [
Applicationindustry

EDRIHFNFIEN

NBALZAR, BaHERTNNBFRR

Ko G —
I
- 3
el BE
ARREIS = % LR
3 % Ve
i 3 R :

B UHHZHD

PRAEENEEHBETERENNTEL, £,
HEPRHUEEARN T mRES. AREEEETM
HERMSEFMATEMN, KRR REES, ATHE
HEOMERMTRNEFERAFTR, 27,
& HiE R T AR TRRITERE I & KR E#E
M7 E K.

nE—EHUER, tlE, fEENEIERE

B, RIMBERERRACVEFNRE, B—E
1%%%5@%%;:;:&!3‘]133&, ABEFRHERREROS
FRE =, — P rEmiEds, HNENERER#HE
B-fEAttrER, Fik, RNERREEERL

BRI RKIEPETFRIMNWEERREFE, ATEW

&, RMNEREXNENEEBR®ERENTm, &
REWEFEQRGHECH, HABRUBLERBER
VZE 38

NEB—ERAXEEZRBFEETE.




Hx %5l

AB/ABRZ 5l AD/ADRZ 5l AF/AER 3]
=R ERE =R E RS =R E RS

Page. 1-16 Page. 17-29 Page. 30-44

PTE/PTF/WPTE/WPTFZ 3 PTSEZ I PTK/WPTKZ 5
BHiEREN = RME S LmHE®E

:0

RY_

A s,

£ o

Lo
\'\t

;j

Page. 52-54

L gy
).

Page. 55-63

Page. 45-51

MTZ 31 LSS/LHTE3I XAR/PTRE 3
hEREESR T4 I8 Rt % AL R E L

mE. RAXK

29
i

Page. 64-77

Page. 78-94 Page. 95-98




® PTR3I

M % #E SECTIONAL DRAWING

(D 4 %l Output shaft

(2% 4 %k Bearing for the output shaft
BW i Internal gear

@FTE% Planetary gear

(BABE%E Sunwheel

©#5EH &R & Full complement needle bearing
DAPBAR %% Bearing for the sunwheel
(@IEREB A% 2 Appropriate motor flange
(Q¥E® % 5 & 45 Precision clamping system

\_ J
TR 5% %8 Planetary Gearbox
PTF-80 — 20 /(&XESE)
®® @ @ (EEBH R ILE I 7 £ fB99T)

H#$E4ME R~ Gearbox outline dimension
40:5MZExternal diameter ¢ 40mm 60:5MZExternal diameter ¢ 60mm 80:5MZExternaldiameter ¢ 80mm
120:5MZExternal diameter ¢ 120mm  160:4pfZExternal diameter ¢ 160mm




& PTZ

#E K ZF#l TECHNICAL DATA

4.5 12 40 80 400 3
6 16 50 100 450 4
6 6 50 110 450 5 1
5 15 45 120 450 8
5 15 45 120 305 10
16.5 44 110 210 / e
18 44 120 260 800 12
18 40 110 230 700 15
20 44 120 260 800 16
BT Hy H 4 58 20 44 120 260 800 20 2
Rated output torque N.M 18 40 110 230 700 25
20 44 120 260 800 32
18 40 110 230 700 40
7.5 18 50 120 450 64
20 44 120 260 / 60
20 44 120 260 / 80
20 44 120 260 / 100
18 40 110 230 / 120
20 44 120 260 / 160 3
18 40 110 230 / 200
20 44 120 260 / 256
18 40 110 230 / 320
7.5 18 50 120 / 512
s dnLife 7InBfHour 30000
B5% 18] &1 #7146 Instant stop torque N.M 2% F =% HH $A %5 Two times of rated output torque

2 KX1Z[8 71 Max radial torque 160 340 650 1500 4200 N
B2 K% E F1 Max akial torque 160 450 900 2100 6000 N
96 1
SRR Full load efficiency 94 % >
20 3
0.4 0.9 2.1 6 18 1
& Weight 0.5 1.1 2.6 8 22 Kg 2
0.6 1.3 3.1 9.5 / 3
T {EiR B Operating temperature -25°C+90°C c
IRIZELR P 1p54
7878775 Lubrication type #& HiEiFLifetime lubrication
Z2%E77X Mounting type fEEANY

BAEEANSHRAME S, HH100RPMES, {EA Tt OZ® (L/2) 4.
The max radial and axial torque work in the location of the center of output shaft when the out speed is T00RPM.

H AR ZHRTECHNICAL DATA

0.031 0.135 0.77 2.63 12.14 3
0.022 0.093 0.52 1.79 7.78 4
0.019 0.078 0.45 1.53 6.07 5
0.017 0.065 0.39 1.32 4.63 8
0.015 0.054 0.34 1.14 3.52 10
0.030 0.131 0.74 2.56 / 9
0.029 0.127 0.72 2.53 12.37 12
0.023 0.077 0.71 1.75 12.35 15
0.022 0.088 0.50 1.50 7.47 16
0.019 0.075 0.44 1.49 6.65 20
g e kgem? 0.019 0.075 0.44 1.30 5.81 25
Moment of inertia 0.017 0.064 0.39 1.30 4.5 32
0.016 0.064 0.39 1.30 4.5 40
0.016 0.064 0.39 1.30 4.5 64
0.029 0.130 0.70 2.57 / 60
0.019 0.075 0.50 1.50 / 80
0.019 0.075 0.44 1.49 / 100
0.029 0.130 0.70 2.50 / 120
0.016 0.064 0.39 1.30 / 160
0.016 0.064 0.39 1.30 / 200
0.016 0.064 0.39 1.30 / 256
0.016 0.064 0.39 1.30 / 320
0.016 0.064 0.39 1.30 / 512
_ rmmScodwrope ] 00 T [ erao [ ereo [ prso | pT120 | PT160 [ @stnumberorstage
E1AE AR arcmin #r#Standard <10 <8 <8 <8 <8 1
Backlash I 4y #rAStandard <12 <10 <10 <10 <10 2
FRStandard <15 <12 <12 <12 <12 3
LN MTorsional stiffness N.M/arcmin 0.7 1.8 4.5 12 38
A= Noise dB(A) 55 58 60 65 70
2 7 il H #% # Max output speed min”' 10000 8000 6000 6000 6000
HEFBW AN iFEecommend input speed min”’ 4500 4000 4000 4000 3000

1. BEHBBESWMANMARX, 2. BEQNIRAE, BEEIm, TEMAREI0005/5 = HANE,

1. The moment ofinertia is related with input shart. 2.Noise test standard pressure level ,distance 1m, measured on idle running with an input speed of 3000rpm.




@ PTE#HERST

&y 1

-

W #1655 % DIMENSIONS % N

\&

#tHOutput L # NInput

D1

L3 L4
L8

L6 7|

WEUnit:mm

2% Number of stage 1 2 3 1 2 3 1 2 3 1 2 3 1 2
L1# & 24 L1 overall length 93.5 | 106.5| 119 113 | 122 [134.5|143.5[161.5| 179 | 191.7|221.5| 249 289 338.5
L3#H 144 L3 body length 39 52 | 64.5 | 46.5| 59.5 72 60 78 95.5 | 73.7 |101.5| 129 104 1563.5
L4444 L4 output shaft length 26 35 40 55 87
L5454 Z 48 L5 output length to the shaft shoulder 24 30.5 36 50 82
L6% 1< £ L6 key length 16 25 28 40 70

L7% Z 45k 34K L7 key length to the shaft end 2.5 2.5 4 5 5
L8ZEfL M &K FE L8 spigot length 2 3 3 4 5
D41 E 2D4 output shaft diameter & 10h7 b 14h7 $20h7 ®25h7 ®40h7
D5%# /8 E £D5 shaft shoulder diameter 12 ¢ 17 $25 $ 35 55
D67Efiz Iy & B 2D6 spigot diameter 26 40 $60 $80 $130
D7# &k H1£D7 body diameter $40 $60 $80 115 $160
D8%#: 7.4 % [ED8 hole circle $34 $52 70 $100 b 145
B1$#3EB1 key width 3 5 6 8 12
H1$#&H1 key height 11.2 16 22.5 28 43

G2% 424 7.G2 mounting screw hole M4X6 M5X8 M6X10 M10X16 M12X20
G3HLZ4FLG3 center screw hole M3X9 M5X12 M6X16 M10X22 M12X25
L9 HL%h4 FEL9 motor shaft length <26 <30 <40 <58 <81
L10%E i (™ & iR L 10 spingot depth RIFEHLR T RIBEHLRT RIEEHLR T RIBEHLRT RIFEHLR T
D1% % 7.4 % EID 1 mounting hole distribution circle RIFBHLRT RIBAEHLRT RIBBHLRT RIBEYLR T RIBEML R~
D23 fi 'y & B #2D2 spigot diameter RIBEHLRT RIFEYLR RIFEHLRT RIBEHLRT RIFEHLR T
D3 N5 % 12D3 input shaft diametr <8 <14 <19 <24 <42
G1= %1245 7LG1 mounting screw hole RIFBAYLR T RIFAYLR RIBBEHLR T RIBAYLR RIBBEHLR T
Q3% A E=Q3 input flange RIBEHLR T RIFEVLR RIBEHLR R R~ IRIE LR

N i R T R AR IR RALR S 4E

*Input size made according to motor size.

N
~



@ PTF#RiERST

/-p& ;‘p\

‘v ¢

W S5 DIMENSIONS

i HOutput L W NInput
L3 L4 D1
4-G1
4-D9
‘ L L8 Al
L | L5 \
N
L6 L7 N \\
: 8 a1 F |85 1
s, | a
7
\ % |
D
EEUnit:mm

& Number of stage 1 2 3 1 2 3 1 2 3 1 2 3 1 2
L1# % 24 L1 overall length 93.5 | 106.5| 119 113 | 122 | 134.5|143.5|161.5| 179 | 191.7|221.5| 249 289 338.5
L3%E{& 4K L3 body length 39 52 | 64.5 | 46.5 | 59.5 72 60 78 95.5 | 73.7 |101.5| 129 104 153.5
L4t %04 FEL4 output shaft length 26 35 40 55 87
L5H 54 Z 48 L5 output length to the shaft shoulder 24 30.5 36 50 82
L6f# K B L6 key length 16 25 28 40 70
L7% Z 45k 34K L7 key length to the shaft end 2.5 2.5 4 5 5
L8E L &1 FE L8 spigot length 2 3 3 4 5
L1154 3% 2 E & L11 output shaft diameter 6 8 10 15 15
D44 % B 12D4 output shaft diameter &10h7 b 14h7 $20h7 $25h7 $40h7
D5%# /& H #2D5 shaft shoulder diameter $12 ®17 25 ¢35 55
D6E i 'y & B 12D6 spigot diameter $26 $50 $80 110 $130
D7#iH 3% 2D7 Output flange []45 [J60 190 1120 175
D8% #7143 % [BID8 Mounting hole distribution circle $50 b70 $100 130 185
D9i% 2 %2 % 71 D9 mounting hole $3.5 $5.5 $6.5 $8.5 b1
B1{#3EB1 key width 3 5 6 8 12
H1g & H1 key height 1.2 16 22,5 28 43
G3HLMZEFLG3 center screw hole M3X9 M5X12 M6X16 M10X22 M12X25
LOm #15h ¥ L9 motor shaft length <26 <30 <40 <58 <81
L10E iz & & EL10 spingot depth RIEEALR T RIBEYLR RIBEYLR RIEE AR~ RIBEALR T
D122 % 74> % [BD1 mounting hole distribution circle RIFEYLR RBEALR T RIFEYR T RIBEALR T RIFBEHR T
D27 fir 4 & B 2D2 spigot diameter RIBEILR RIBEHLR T RIBEYLR T RIBEHYLRT RIBEYLR T
D 3% N33 £D3 input shaft diametr <8 <14 <19 <24 <42
G1RZBLFL.G1 mounting screw hole RIFEHLR T RIEEHLR T RIFEMR T RIBEHLR T RIFBEMR T
Q3% A\ % =Q3 input flange IRE LR RIBEMLR IRIEEALR IRE AR T RIBEALR

KEN IR R~ AT R R R AL R~ #l 4k

*Input size made according to motor size.

N
[e")



@ WPTE#RERT

M #liW24 DIVMENSIONS

L1

Outputég it
4-62 D8

L3

Inputigi N\

D6
D7

HEIUnit:mm

2 ¥ Number of stage 1 2 3 1 2 1 2 3 1 2
L1#E 4 24 L1 overall length 156.5(169.5|182| 194 212 229.5 | 258.7 | 286.5 | 314 | 368 | 471.5
L3#E {4 1< L3 body length 46.5 | 59.5 | 72 | 60 78 73.7 | 101.5|129| 129 | 178.5
L1257 L12 overall height 93 109.5 145.5 229

L4 H %h4< B L4 output shaft length 35 40 55 87
L5 #i4< Z % /8 L5 output length to the shaft shoulder 30.5 36 50 80
L6%# 1< L6 key length 25 28 40 70
L7$2 =35k 34 L7 key length to the shaft end 2.5 4 5 5
L8ZE I ™ & K E L8 spigot length 3 3 4 5

D4 H %h H £D4 output shaft diameter b14h7 b20h7 $25h7 $»40h7
D5%H /8 H 12D5 shaft shoulder diameter $17 b 25 $35 »55
D6E i 'y & H 12D6 spigot diameter b 40 b 60 $80 $ 130
D7i5% 8w D7 gear box section $ 60 $ 80 b 115 175
D8%2 3% L. 4> 7r [EID8 Mounting hole distribution circle b 52 70 ¢ 100 $ 145
B1##2EB1 key width 5 6 8 12
H1$285H1 key height 16 22.5 28 43
G2ZL IR LI FLG2 x R EEmounting screw hole x depth M5X8 M6X10 M10X16 M12X20
G3H MR LFLG3 center screw hole M5X12 M6X16 M10X22 M12X25

LOEE #1441 L9 motor shaft length <30 <40 <58 <81

L10%E i ™y & R L 10 spingot depth RIFEALR T RIBEILR T RIFEHR T RIBEYLR T
D1Z % FL4 7 EID1 mounting hole distribution circle TRYE AR T RIFEBE AR T RIFEALR T RIFEBE AR T
D27 fir i1 & EH 12D2 spigot diameter RIFEBYLR T RIFBHLR T RIFEBHLR T RIFBHLR T
D3%I N 53472D3 input shaft diametr <14 <19 <24 <42

G1R 4 FL.G1 mounting screw hole RIFBEBHLR T RIFEHLR T RIBEB IR~ RIFEILR T
Q3% % =Q3 input flange RIFEAR T RIFEALR T RIFEYLR T RIBEYLR T

KEN I R T R AR IR R AL R~ 4o

*Input size made according to motor size.




@ WPTFHERST

M #5245 DIMENSIONS

Outputigi

L1

L3

L4

InputiI A\

L12

L6

L5

L9
= 35 N POy T EpR—,

L10

HEE{ZUnit:mm
ZR# Number of stage 1 2 3 1 2 3 2 3 1 2 3
L1#84k =14 L1 overall length 156.5 | 169.5 182 | 194 212 | 229.5 |258.7 | 286.5 | 314 | 368 | 471.5| /
L3814 L3 body length 46.5 59.5 72 60 78 95.5 101.5 | 129 | 129 | 178.5 | /
L1225 L12 overall height 93 109.5 145.5 229
L4 H %4 EEL4 output shaft length 35 40 55 87
L5 #h4< Z 545 L5 output length to the shaft shoulder 30.5 36 50 80
L6$# 1< B L6 key length 25 28 40 70
L7%2 = 55k %1€ L7 key length to the shaft end 2.5 4 5 5
L8 iz ™ & K £ L8 spigot length 3 3 4 5
D11;5=J2F L11 flange thickness 8 10 15
D4 % B 2D4 output shaft diameter ®14h7 $20h7 b25h7 $40h7
D5%# J§ H {2D5 shaft shoulder diameter 17 »25 $ 35 ®55
D67EfiL ™ & E £D6 spigot diameter $50 » 80 ®110 $ 130
D754 #im D7 gear box section 160 190 1120 »175
D8% & ¥L. 4y #5 [EID8 Mounting hole distribution circle ®70 $ 100 $130 $ 185
D9k 2% 7L.D9 flange mounting hole 5.5 $6.5 $8.5 d 11
B1{#3EB1 key width 5 6 8 12
H1$EH1 key height 16 22.5 28 43
G324 FLG3 center screw hole M5X12 M6X16 M10X22 M12X25

[@rsgwpee
LOEE #L%5#4< FEL9 motor shaft length <30 <40 <58 <81
L10%E fiz ™ & R EEL10 spingot depth RIBEBHLR T RIFEHLR T RIFBEBHLR T RIBEYLR T
D1% % 7L 4> % ED1 mounting hole distribution circle RIBEVLR T RIEBEYLR T RIFEVLR T RIEEYLR T
D27 fi 1 & E 12D2 spigot diameter RIFEHYLR T RIFBEIR T RIFEYLR T RIFEYLR T
D3N ZD3 input shaft diametr <14 <19 <24 <42
G122 4 FLG1 mounting screw hole RIFEYLR T RIFBBEYLRT RIBEYLR T RIFEYLR T
Q3N %22Q3 input flange RIFEHLR T RIEF AR ~F RYE LR ~T RIFEYLR T

BN R T AR B R ALR T #ME
*Input size made according to motor size.

(&)
(@)



® WPTE

W5 A FHTECHNICALDATA

BE M A SR 40 110 230 780 25
Rated output torque N.M 44 120 260 910 32
40 110 230 780 40
18 50 120 450 64
44 120 260 / 60
44 120 260 / 80
44 120 260 / 100
40 110 230 / 120
44 120 260 7 160 3
40 110 230 / 200
44 120 260 / 256
40 110 230 / 320
18 50 120 / 512
5 finLife /INEfHour 30,000
5% (8] & 1= #7 4B Instant stop torque N.M 2f& F &0 & fa H $1%E Two times of rated output torque

fx A 12 [a 71 Max radial torque 340 650 1500 1900 N
£ A% 8 71 Max akial torque 450 900 2100 8200 N
94 1
HELFLE Full load efficiency 92 % >
88 3
1.7 4.4 12.0 26.5 1
TR Weight 1.9 5.0 14.0 29.6 Kg >
2.1 5.5 16.0 / 3
__ T {E;BFE Operating temperature —25C~+90C <
RIVFELR 1P P54
087875 5K Lubrication type £ & jE 8 Lifetime lubrication
%7 Mounting type {E7ANY

RAREANSEKRMESN, HH100RPMES, EAFHEHMHPOLE (L2) 4.
The max radial and axial torque work in the location of the center of output shaft when the out speed is 100RPM.

0.246 1.189 5.75 / 3
0.204 0.939 3.91 19.4 4
0.189 0.869 3.35 17.5 5
0.176 0.809 2.89 15.9 8
0.152 0.730 2.54 15.5 10
0.242 1.169 5.73 / 9
0.238 1.139 5.60 / 12
0.188 1.129 5.53 {11559 15
0.199 0.919 3.83 19.4 16
0.186 0.859 3.28 17.5 20
g Kgem? 0.186 0.859 3.26 17.5 25
Moment of inertia 0.175 0.809 2.84 15.9 32
0.175 0.809 2.84 15.9 40
0.175 0.809 2.84 158 64
0.187 0.929 5.62 / 60
0.186 0.919 3.28 / 80
0.186 0.859 3.26 / 100
0.175 1.119 5.47 / 120
0.175 0.809 2.84 / 160
0.175 0.809 2.84 / 200
0.175 0.809 2.84 / 256
0.175 0.809 2.84 / 320
0.175 0.809 2.84 / 512
[5] 72 18] B Backlash 5K %y arcmin <15 <19 <20 <30 2
<15 <20 <21 / 3
s 4.5 10 1
HLIA N ETorsional stiffness N.M/arcmin 2.5 E.5 13 2
25 8.3 12 3
7S Noise dB(A) 65 68 70 72
% /5 % HH ¥ 3 Max output speed min’’ 13000 7000 6500 4500
HE FF 41 N\ ¥E 32 ecommend input speed min’’ 3000 3000 3000 3000

1. BHRBSWABER, 2. BERURE, EFIm, FEHAFKE0005/5THMNS,

1. The moment ofinertia is related with input shart. 2.Noise test standard pressure level ,distance 1m, measured on idle running with an input speed of 3000rpm.




@ PTS#HERST

W 654 DIMENSIONS

4 N
45 Houtput
L1 R
4-DOEFL " —— L3 L4
N T o -L8
>£\ i [ !
: |
| L104 e
| | N—
88— 8 3 8
i ‘ |
) ! — L L5
I |
| |
[— [
L L9 113 1
D8
\_ J
WEEGUnit:mm
2% Number of stage 1 2 1 2 1 2 1 2 1 2
L1#5 % 54K L1 overall length 200 226.5 271 318.5 305.5 353 388 450 456 524
L3%& 44 EEL3 body length 77.5 111 102 151.5 121.5 169 137 199 181 249
L4H %4 L4 output shaft length 64.5 88 90 108 132
L5H & Z 4 BL5 output lengthtothe shaft shoulder 58 80 82 100 110
L6$# K EL6 key length 50 70 70 90 100
L8E L M & K L8 spigot length 4 5 6 6 20
D4H 3 E £D4 output shaaft diameter &32h7 $»40h7 b55h7 ¢ 65 b 70
D54} /5 E 12D5 shaft shouldrer diameter 45 65 $95 b 110 & 120
D67E i [ & E 2D6 spigot diameter $110h7 $130h7 $160h7 ¢ 225 ¢ 250
D7#i 3% ZD7 Output flange 115 1142 1190 (1240 [] 285
D8% % 7143 72 [ED8 Mounting hole distribution circle $¢130 $165 $215 ¢ 265 ¢ 315
D9i% 2 %47l D9 mounting hole 8.5 11 $13.5 o 18 o 22
L13TE##% i L13 groove width 34 52 52 60 60
L14TZ4# L14 groove 115 1140 1190 [] 240 [ 280
LM #1%¥ BEL9 motor shaft length <58 <81 <90 <143 <143
L107E fiz N & 3R BEL10 spingot depth RIFEYLR RIBEHLR RIFEYLR RIBEHLR T RIBEHLR T
D1Z% 7.4 % ED1 mounting hole distribution circle RIFEYLR T RIFEYLR T RYFEMLR T RYFEYLR T RIFEHR T
D27 i (1 & B #ZD2 spigot diameter RIBEHLR T RIBEHLR RIFEHIR T RIFEHLR T RIBAHLR T
D3 N 5% 2D3 input shaft diametr <24 <42 <42 <42 <60
G1ZR L FLXR EG1 mounting screw holeXdepth RIFBEYR T RIBAIRT RI\BHLRT RIBBHRT RIBAILR T
Q3® A % 2Q3 input flange RIBEVR T RIFBAYLR T RIBENR T RIBEIR T RIFBAENLR T

KENIm RT AT ARE AL R~ 4E o

*Input size made according to motor size.

* PTS330EKIEEHEARKR,

(&)
N



® WPTSE

#r tHOutput H Nnput
L1
142X142 L3 L4 175175
4-9D9 D8 L11Ls
= ﬁ |
T 4 D8 L6 L7
[ \ I
' | _l % <*| ©
o T A e [ S| | oo
E : °G3 ’/ o E ‘ L5
|~ i |
i
1 7.
® ™ 2| © .
I | L I
I L .
‘ ol |bs
- D2
EE{GUnit:mm E R HHTECHNICAL DATA
Z5# Number of stage 1 2 —
L1#8{k 24 L1 overall length 269 318.5 o .
£ 102 151.5
L3#5 &< EEL3 body length — . ;
450 8
L4 %4 L4 output shaft length 88 305 .
L5H 54 Z i BL5 output lengthtothe shaft shoulder 80 I 910 12
L6 K L6 key length 70 = ,y 780 15
R .
L8FE AL & 4 B L8 spigot length 5 ated output torque 910 16
D4 H§H & ££D4 output shaaft diameter $40h7 910 20
D5%4 J§ E 2D5 shaft shouldrer diameter $65 780 25 2
D67E fi 4 & E #2D6 spigot diameter $130h7 910 32
D7%i 4 3% 2 D7 Output flange 1142 Z:g :2
D8% 3 714 77 [EID8 Mounting hole distribution circle b 165 05 T00
D9i% 2= % 7L D9 mounting hole b 11
L13T % FF L13 groove width 52 fRA1R[E 4 Max radial torque 8200 N 1
L14T %78 L14 groove 7140 R A%AEH Max akial torque 19000 N >
98 1
%
[ T s factioen |95 :
L2#i N3k Z K FEL2 input flange length RIBEHN R EE Weight 15.4 ; 1
LOEE L% 4€ FEL9 motor shaft length RIBEHL R 18.5 g 2
L10%E {ir 1 & R EL10 spingot depth RIBEYR T T{EIRE Operating temperature T
D1Z % 7.4 % ED1 mounting hole distribution circle | RIBEHR T RIPER IP
D27 i [ & B 2D2 spigot diameter HRHE LR 8787 R Lubrication type #& 53 iBLifetime lubrication
D3#i N4 #12D3 input shaft diametr <35 Z3£ 773 Mounting type fEEANY
G123 G FLXGE EG1 mounting screw holeXdepth RIEE LR~ #fuLife 1)\ BsfHour 30 000
Q3% N 2Q3 input flange R¥FE LR~ B2 18] 2= HLAE N.M 2fEFEEM H A
Instant stop torque Two times of rated output torque

XN I R ~F AT AR 4B B AL R~ H4E
¥Input size made according to motor size. RAEEANSHEXMESN, BH100RPME, ERFRAHMHOMIE (L2) 4.

The max radial and axial torque work in the location of the center of output shaft when the out speed is 100RPM.

W A ZRTECHNICAL DATA
12.14 3 132 5 B Arcmin <8 1
7.78 4 Backlash 5N 4y <12 2
6.07 5
4.25 10 . 44 1
HLH M % Torsional stiffness N.M/arcmin|
P 12.37 12 6

12.35 15 £=Noi dB(A

Moment of inertia Kgcme ﬂ;&iNmse A) 68
7.47 16 5 5 % H ¥ #EMax output speed min”’ 6500
6.65 20 HFF N\ F5# Rcommend input speed min™”' 3000
5.81 25
6.36 32 1. BHRESWARAX, 2. BERNRAE, BEHIm, ERNRIEI000%/9 = HENE,
528 0 1. The moment ofinertia is related with input shart.

= 2.Noise test standard pressure level ,distance 1m, measured on idle running with an

4.50 64 input speed of 3000rpm.
417 100




@ PTSE

H A BRI TECHNICAL DATA

150 5800 3
200 560 1200 3500 5800 4
210 700 1600 2640 4400 5 1
148 450 1000 1450 2595 8
125 305 630 1500 2595 10
B 4R 260 910 1800 1836 4400 12

210 780 1800 1836 5200 15

Ratad output torque N-M 260 910 1800 3710 6400 16
260 910 1800 3710 6400 20
210 780 1800 2805 4710 25 5
260 910 1800 3710 6400 32
210 780 1800 2805 4710 40
148 450 1000 1500 2650 64
125 305 630 3950 8130 100

EaLife 7N BfHour 30 000
B5% 18] S4= #1146 Instant stop torqup N.M 2fE FERIE M H AL Two times of rated output torque

= K161 7] Max radial torque 4300 8200 12000 50000 95000 N 1
ExKEHE 1 Max akial torque 12000 19000 28000 25000 47500 N 2
98 93 % 1

EESE Fullload efficiency 95 90 2

EHE Weight 9.0 15.4 33.5 50 110 kg 1
11.6 18.5 45 65 135 2

TI{EIRE Operating temperature _25C+90°C T

RIPELR IP P54

1878 773K Lubrication type #& 53838 Lifetime lubrication

%2 773X Mounting type E=EAny

RAREANSRXHES, HH100RPME, EAFHHEPOIE (L2) 4.

The max radial and axial torque work in the location of the center of output shaft when the out speed is 100RPM.

H A BRI TECHNICAL DATA

2.10 12.14 47.52 15.6 42.0 3
1.51 7.78 29.69 16.3 40.2 4
1.22 6.07 23.18 15.4 39.9 5
1.05 4.63 16.83 16.1 34.5 8
1.00 4.25 15.32 15.2 34.5 10
wHiEe 2.00 12.37 30.25 15.9 18.8 12
2 2.00 12.35 23.53 16.9 18.8 15
Moment of inertia Kgem
1.48 7.47 28.95 15.0 18.8 16
1.41 6.65 22.71 15.0 18.8 20
1.21 5.81 22.46 15.7 18.3 25
1.46 6.36 16.65 15.3 16.8 32
1.05 5.28 16.54 16.1 16.6 40
1.05 4.50 16.45 14.3 15.2 64
1.00 417 15.07 7.4 14.8 100

5] 72 8] B Arcmin <8 <8 <8 <8 <8 1
Backlash Bl <12 <12 <12 <15 <15 2

HLH M %ETorsional stiffness N.M/arcmin 20 44 130 123.3 213.3 1
22 46 140 280 460 2

& A Noise dB(A) 65 68 70 75 75

£ = 1 H 5 #Max output speed min ' 8500 6500 6000 3000 3000

HEFF M F 3 Rcommend input speed min™’' 4000 3000 2500 1500 1500

1. BHRESWANBEX, 2. BEQURE, BEEIm, ERNEEI000%/9 = HENE
1. The moment ofinertia is related with input shart. 2.Noise test standard pressure level ,distance 1m, measured on idle running with an input speed of 3000rpm.




15.8 60.0 150.0 310.0 3

25.5 88.0 225.0 605.0 4

27.5 95.0 240.0 420.0 5 1- stages

19.2 66.0 160.0 270.0 7

12.0 40.0 90.0 - 10

28.0 98.0 250.0 340.0 12

29.5 98.0 250.0 680.0 16

29.5 98.0 250.0 680.0 20

31.5 105.0 270.0 460.0 25

29.5 98.0 250.0 680.0 28 2= stageé

31.5 105.0 270.0 = 35

29.5 98.0 250.0 460.0 40

31.5 105.0 270.0 310.0 50
e TaTN Nm 22.5 75.0 180.0 310.0 70

35.0 125.0 315.0 310.0 80

35.5 125.0 315.0 900.0 100

38.5 135.0 335.0 580.0 125

35.5 125.0 315.0 900.0 140

38.5 1850 335.0 - 175

35.5 125.0 315.0 580.0 200

38.5 135.0 335.0 900.0 250 3-stages

35.5 125.0 315.0 580.0 280

38.5 135.0 335.0 580.0 350

37.0 125.0 315.0 580.0 400

40.0 135.0 335.0 400.0 500

27.0 93.0 225.0 - 700

17.2 58.0 130.0 = 1000
ﬁﬁ%ﬁﬁuﬁl}aue T Nm 2f=En e HA%E/ 2* Nominal torquet

<8 <8 <8 <8 1- stages
Eﬁﬂﬁzg arcmin <10 <10 <10 <10 2- stages

<12 <12 <12 <12 3- stages

0.6 0.7 1.2 3.2 1- stages
SEIHE Nm 0.3 0.4 0.7 2.0 2- stages
No-load torque

0.3 0.3 0.6 2.0 3- stages
B peed rpm 4000 3500 3000 2500
ﬁzf(?n)gﬁifpeed rpm 8000 6000 5000 4500
27"/ Noise” dB <58 <60 <62 <65

BB
B RS 2% A e T, TS
W IRF(E60. 85, 1155FIRIEAEMANGEN, =3000rpmEELE TE; 160RINEEHNSEN,,=2500rpm BEHE TS,




@ PTKIHAKEH

RARSE
[ mSwoder [ meumk | ek [ sSSages |
b lifetime h 20000
=IELIERE Min.operating temp C -25
&&= T{ERE Max.operating temp C +90
By &% Degree of protection 1P IP65
BB 7 Lubrication K@/ Life lubrication
#7535 Mounting position £/ Any
W75 1E Direction of rotation W . #@AR@/Same direction
96% 1- stages
#EE Maximum efficiency % 94% 2- stages
90% 3- stages
1900 6800 8150 15500 1- stages
BAFEMET Max.radial force® N 2400 8000 9900 19000 2- stages
4100 13000 16000 31000 3-stages
450 6000 10000 16000 1- stages
BAAWIME S Max.axial force? N 640 7600 12000 21000 2-stages
1300 12000 20000 36000 3- stages

(2
4 ‘ )
@

&’

WEAA:

B SRREERET | TSRS ;

B RXBIFRBI/MMAIIPTKE0, PTK85, PTK115, PTKI60ERIEMHIEERAL00rpmAT , SUERIEMHEEIEAS0rpmAT , =RIEMHEEEAL0rpmjf ERTFHEHMFLAFOFTUE
RFRANREEI.

WEHEEHERR , BESHEARKR.




@ PTK60kRER T

B4R 1-stage
BAR 2-stage 68.5 101.0 1.5Kg
B 3-stage 84.5 117.0 1.8Kg
4-95.5 B
A 6
S B ~) ~|
8 § = S i B g g g
5 40
-8 65
30
% 1-stage 52.5 90.0 1.2Kg
BALR 2-stage 68.5 101.0 1.5Kg
B4R 3-stage 84.5 117.0 1.8Kg
B
/ A 6
L
g = ol =
e il 1 288 8 < ou ¢
5
18]
30
B4} 1-stage 52.5 90.0 1.4Kg
B4R 2-stage 68.5 106.0 1.7Kg
4-M6712
B @90
/ 2n A 6
4 / A =
| —]
[AE— L
sl |
' T2,
~ N Q0 =77 .
Ziel | 1 < =elz
@ { SIS I B I 1 A - 2|88 8 < o1«
Hadh
[ S——
[— L
h
i
L 5
6 8
36.5 30
() UEBHMMERTA#EE. £ EEBHRTCERN, TTMHME. ERG%RDE, B5HEARBKER
w . . » - 100w 08 9X31.51030:6/4-M4 0451046
(2) BURHMANIRR T, KBHMERRERTME. HEHKRDL, E5HEARBKR 4000 914 031 5 050G MAME} 570
. N " . 7500 019 OaIBTONGHA (M6, 590
3) MEAENRT, BE5HEARKR STB R I X51.51038. DGA-MT 1007 14
4) L EFRER 86l o1 Ox1/073x6/4-M5(M6)-69.6x69.6




® PTKSS#RiER

EALR 1-stage
YR 2-stage 91.5 151.5 3.2Kg
BALR 3-stage 114.5 174.5 3.8Kg
4-26.5 B
7100 30 A 12
: 7,
puly ot \ \/:5‘_
s e = § \ Hole |
- <+ ) R — R R —— - - - -
s gs i EEE
)
__{:‘_J __r /
; 40
8 10
42 110 |
42
BALR 1-stage 68.0 128.0 2.6Kg
YR 2-stage 91.5 151.5 3.2Kg
BALR 3-stage 114.5 174.5 3.8Kg
4065 B
P I —,
\ Sy \
; ) E| g : { CYRES
g HEED)o)) N e BEEE
;/ X S N ] SRS g < 019
Q/ ..L,..J o /
12 g :
— 8 10
8 a2 |10
42
B4R 1-stage 68.0 1435 2.9Kg
B4R 2-stage 91.5 166.5 3.5Kg
vons B o145 4-M8716
2100 .—_‘45
/ /;E : -
PN 1
ekl \
o ; % £ )\ =
BN AT (= i B A B g[s g <o
(o] o1 9
N ALt
\/\_5_/ 10
' L10]
86 8 42

57

) ULEBEBERTAMSE. R ERBINEEENN, TMEE. RRE%DIE, B5HEARKR
() BRBHMARR T, RBHMERERTIME. HEHHRDIE, BEHEARKER
Q) MEEEMRT, BEHEARBKR

@) BLEMERES

400W 214 @x42/Q50x8/4-M4(MS)-B70

750W 219 Dx42/070x8/4-M5(M8)-090

1500W 022 @x57/@110x8/4-M8-0145
ST 214 Dx42/@38.1x8/4-M4-47 14x47 14
865 i B4 @14/15.875 Bx42/G73x8/4-M5({M8)-69 6x69.6




@ PTK115%5:ER T

4% 1-stage 85.5 154.0 6.1Kg . l
4% 2-stage 1155 184.0 8.1Kg @
5 3- <
H% 3-stage 145.5 214.0 10.1Kg o N ) ’
B 4-M5710
28 A 15
o [ - -
~ = ~
= AEBEA 1V H Z o= <
z < - CEE 019
50 |
12
12
B4} 1-stage 85.5 154.0 6.4Kg
YR 2-stage 115.5 184.0 8.4Kg
BALR 3-stage 145.5 214.0 10.4Kg
B 4-M8716
2 A 15 guae
! -
.
|
- )
~ LA o - —
@ - SN = o] =
g & =g _ ] RS
| A, .
:‘ ~7 |50
&l 12
60 12
B 1-stage 85.5 154.0 6.6Kg
B4R 2-stage 115.5 184.0 8.6Kg
B 3-stage 145.5 214.0 10.6Kg
B
43 A 15
|
| -
E——
et
s Bl .
| N A o & o <
g8 T 1 +__ HEE g \@32<
el = ‘>
S 50
| -
; 12
8 12
60
(1) UEBHNMERTARSE. FiH ERBYEBENN, AniE. BRI, B5HEARKR
7500 019 OS/BT0RB/4-MS(ME)- 890
(2) BORHIANHRT, KEHMERERTME. H{WHEDX, B5HEARKR 15000 o2 G608 TI064NED 145
. " = 2000W @32 2x60/@130x8/4-M10-2165
) MEEENRT, BESHEARBER 10 T, 214919 050/0955 5x8/4-MB-55.9488.9
&) BLEMEEY 130 T, 0190022 2x60/0100x6/4-M10-109.6x109.6




@ PTK160%:ER T

B 1-stage
B 2-stage 140.5 229.5 20.0Kg
B4 3-stage 185.0 274.0 26.0Kg

185.0cew /229.5 s 1274.0 =

96.0eg /1405 me 1850 = 17]
E -
—A
L4
- :C l"--[ 9 r""\ﬂ'
R
i_l:\ﬂLl"[ Gdl
]
75 4 —
62 15
18
EALR 1-stage 96.0 185.0 16.0Kg
B%g 2-stage 140.5 229.5 22.0Kg
BALR 3-stage 185.0 274.0 28.0Kg
4-011 210.0ce4 /254.5 g 299.0 =
2185 2 96,0k /1405 ca [185.0 = 17|
125 EaaiBles
— d —
A
| ! :_O "‘--( | ___\_
Zert 11 11EN £ ==
8 e g] J-p - H L S 88 e < ﬂ35<
: SIS A H E I S| S
— ST .
el stf
[ E——
U —
H—
T 15
87 18
EALR 1-stage 96.0 185.0 17.0Kg
BZR 2-stage 140.5 229.5 23.0Kg
BALR 3-stage 185.0 274.0 29.0Kg
2100 /254.5 s 1299.0 (=)
25 96.0cew) /140.5 e /185.0 =g 17|
.’—1
: y ]
i .
- I HE) 51 B -
o [T = = o=
[=1 S| % i A i N Zl 8 S <
g g é 1 Y8 7 <mdq
tes |
vl
[ .
J "
] -
1‘*: 15
87 18

(D UEBHBMERTAHESE. U EABNETENN, AMEE. ARHHRDE, FSHEARKR
(2) RURHUAMARRT, REBNMERZRTIME. HRHFERDE, BEHEARKR
) MEEENRT, FESHEARKR

@ pERERER [ 5

1500W 922 §x62/9110x7.5/4-M8-§145

3000W 935 Dx87/114.3x8/4-M12-9200

3000W. 38 Bx87/114.3x6/4-M12-5215
130 i T il 2191922 @x62/@100x8/4-M10-109.6x109.6




15.8 60.0 150.0 310.0 3

25.5 88.0 225.0 605.0 4

27.5 95.0 240.0 420.0 5 1- stages

19.2 66.0 160.0 270.0 7

12.0 40.0 90.0 - 10

28.0 98.0 250.0 340.0 12

29.5 98.0 250.0 680.0 16

29.5 98.0 250.0 680.0 20

31.5 105.0 270.0 460.0 25

29.5 98.0 250.0 680.0 28 2- stages

31.5 105.0 270.0 = 35

29.5 98.0 250.0 460.0 40

31.5 105.0 270.0 310.0 50
e NN Nm 22.5 75.0 180.0 310.0 70

35.0 125.0 315.0 310.0 80

35.5 125.0 315.0 900.0 100

38.5 135.0 335.0 580.0 125

35.5 125.0 315.0 900.0 140

38.5 135.0 335.0 = 175

35.5 125.0 315.0 580.0 200

38.5 135.0 335.0 900.0 250 3-stages

35.5 125.0 315.0 580.0 280

38.5 135.0 335.0 580.0 350

37.0 125.0 315.0 580.0 400

40.0 135.0 335.0 400.0 500

27.0 93.0 225.0 - 700

17.2 58.0 130.0 = 1000
ﬁﬁ%ﬁ;ﬂuftgtg?qque T Nm 2fEEEH H A/ 2* Nominal torquet

<10 <10 <10 <10 1- stages
Dl arcmin <12 <12 <12 <12 2-stages

<14 <14 <14 <14 3- stages

0.6 0.7 1.2 3.2 1-stages
SHIHE Nm 0.3 0.4 0.7 2.0 2- stages
No-load torque

0.3 0.3 0.6 2.0 3-stages
e peed rpm 4000 3500 3000 2500
e eod rpm 8000 6000 5000 4500
7 / Noise® dB <60 <62 <65 <65

WeBE:

B CIFEERRRAER 2% MIEE Rt IR T, FlS;

B I2F{E60. 85, 115FSIREMEMAIGEN IN=3000rpm EXLH TUS; 160RTIEAREHNEHEN, =2500rmBFEAE TS




@ lifetime h 20000
B®IETI{ERE Min.operating temp C -25
&5 L{ERE Max.operating temp C +90
B5#P% 4% Degree of protection IP IP65
@87 Lubrication K3Eid/ Life lubrication
L%753 Mounting position F&/ Any
lig4& 75 1@ Direction of rotation . #AR@E/Same direction
94% 1- stages
FEEE Maximum efficiency % 92% 2- stages
A 88% 3-stages
1900 6800 8150 15500 1- stages
BABZEBEH Max.radial force® 2400 8000 9900 19000 2- stages
4100 13000 16000 31000 3-stages
450 6000 10000 16000 1-stages
AR Max.axial force® 640 7600 12000 21000 2- stages
1300 12000 20000 36000 3- stages

5288
B GREAUERET, EEUEREAINE);

B BERBIFHRED AN RRIER LR 100rpmes, RFER LR H50rpmET,
B SABITREA AR D SRR LR 100rpmad, KRR 50rpmaT,

NERCHHAERN |, ESHEARKR.

SRTEEIHEEE 10rpmif MFRTFHLHEOME (1/25K4k) FrEAIFREARMES;
=RIERHEEEA 10romif (ERTRLEINREPMIEAFERN A& .




@ WPTKirERST

84 1-stage 52.5 1235 2.0Kg
Wk 2-stage | 68.5 [ 1395 [ 23Kg |
4-055 B
©70 A 4,
A N |
/ S
o o
M 4 G
é ) )S i 3 R
/ w
i
el gl o =
7 2 [ e
[y ] N 5
1 o @ T = 28
I 1ot 1 30
1 ‘7‘
|0 14F6)|
D S0H7
W 2-stage | 915 [ 1955 [ 5.2Kg |
4.065 — B e 4:M5T10.
©100 e A A \
9 W N
00| o ol 2l 3 ] §
] \ ) )i é] ° e
=/
o 0
== 3 11Q]
£ 5 i £ 5 He
— —— T = i -
+
L) O | ERIR O 1"
=
[}
9 196]
D70H7
W 2-stage | 1155 [ 2555 [ 11.0Kg |
4-085 B
1 A 15|
; -
\
_ |
g 1 E4=F NI=
= - M
| o
1
A ol
= FTTTY 14!
—_—
o e | ©!
< | :I | |
1 ebententos b bttt [ © 1

®22F6
W 2-stage | 140.5 [ 3300 [ 25.5Kg |

g i z
il E { § g —
[ S
E (2 7 %
pr— - s va
, Jl _iT 1ﬁ/y
12 Ol &
[ Ha
(035F8 t
©114.3H7




i % A A R R AL

www.szxlyjd.com



T B1F Hm

EHRENABRAZELVHNE

Professional Supplier For Transmision Equipments And Solution

+ FINTHAILBINBRFRALF
XLY Shenzhen Xinliying Jidian Co.,Ltd.

®
_ﬁ Tel: 0755-23721539 29636353 29634691
REDUCER Fax: 0755-29634692
Http://www.szxlyjd.com
E-mail:szxly8899@126.com

Add: RINTTE LR XK EET KA K IFHEE2 S Tl = X 1 #5614






